
Navn: 　　　　　　　 Dato: 　　　　　　 Score: 　　　

Multiplicér decimaler med ti

5, 014 × 1000000 = ________ 7, 088 × 1000000 = ________

8, 524 × 10 = ________ 5, 711 × 1000 = ________

1, 74 × 100 = ________ 8, 939 × 1000000 = ________

8, 612 × 1000000 = ________ 8, 786 × 10000 = ________

6, 849 × 10 = ________ 7, 141 × 10000 = ________

8, 296 × 10 = ________ 7, 848 × 1000000 = ________

4, 489 × 10 = ________ 3, 392 × 1000000 = ________

7, 651 × 10000 = ________ 7, 19 × 100000 = ________

1, 71 × 1000000 = ________ 7, 581 × 100 = ________

8, 649 × 100000 = ________ 3, 892 × 1000 = ________
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Navn: 　　　　　　　 Dato: 　　　　　　 Score: 　　　

Multiplicér decimaler med ti

5, 014 × 1000000 = 5014000 7, 088 × 1000000 = 7088000

8, 524 × 10 = 85.24 5, 711 × 1000 = 5711

1, 74 × 100 = 174 8, 939 × 1000000 = 8939000

8, 612 × 1000000 = 8612000 8, 786 × 10000 = 87860

6, 849 × 10 = 68.49 7, 141 × 10000 = 71410

8, 296 × 10 = 82.96 7, 848 × 1000000 = 7848000

4, 489 × 10 = 44.89 3, 392 × 1000000 = 3392000

7, 651 × 10000 = 76510 7, 19 × 100000 = 719000

1, 71 × 1000000 = 1710000 7, 581 × 100 = 758.1

8, 649 × 100000 = 864900 3, 892 × 1000 = 3892

www.snowmath.com

https://www.snowmath.com

